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5 R 4 ﬁa; ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁn*ﬁﬁg\%zg;ka‘u ‘(.%r‘n? jj(g')\;tnié X 4 ;.g,r's J:ﬁﬁ;ﬁ\(ﬁ)(btl:.%‘ jj(lfilﬁf)é X 4 J:ﬁn*m\(ﬁ)o)tt%‘ z.%r‘n? jj(gr)uitn?)é
; 100kN/M#%#BZ % - ~ -|3mZEBZS -~ - -| 100kN/m%#8Z% % - ~ -|3mZ#BZ S ~ -
ZFhLs 100|000 ~ 514 64.09 | #hils | 0oo ~ o0.00| 1.54 7.77 Zzh st 1.00 | 5.00 ~ 5.90 64.09 | =nS | 5,00 ~ 590 | 1.54 7.77
2 100kN/mM##BZ % ~ -|3mZEBZS ~ -| 100kN/m%#8Z% % ~ -|3mZi#BZ S ~
ZznLst 1.00 | 0.00 ~ 6.44 81.04 | #hdst | 0oo ~ 000|172 8.69 Zzhn Lt 1.00 | 5.00 ~ 7.60 81.04 | #hst | 5.00 ~ 7.60|1.72 8.69
3 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 1 000 ~ 6.46 68.08 | TN | 000 ~ 000]1.75 8.83 st 1.00 | 5.00 ~ 6.00 68.08 | Tnls | 600 ~ 6.00)1.75 8.83
4 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/mM%#B =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 512 63.80 | TN | 000 ~ 512]203 10.28 Zzh st 1.00 | 5.00 ~ 6.80 63.80 | =ns | 5,00 ~ 6.80|2.03 10.28
5 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#B 2% ~ -|3mE#BZD ~
Zhst 1.00 | 0.00 ~ 7.06 89.60 | #hst | oo ~ 706\ 1.89 9.568 Zzhn st 1.00 | 5.00 ~ 9.51 89.60 | #hst | 5.00 ~ 9.561|1.89 9.568
6 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/mM%#8 2% ~ -|3mE#BZD ~
ZznLst 1.00 1 000 ~ 4534 54.20 | =N | 000 ~ 434 1.93 9.76 Zzh st 1.00 | 5.00 ~ 5.00 54.20 | #hst | 5.00 ~ 5.00 | 1.93 9.76
- 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
zh s 1.00 | 0.00 ~ 4.77 59.46 | FhLst | 0.00 ~ 0.00)| 1.66 841 Zh s 1.00 | 5.00 ~ 5.00 59.46 | FnS | 5,00 ~ 5.00 | 1.66 841
s 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
LS 1.00 000 ~ 417 5219 | #npst |ooo ~ 417]1.98 10.01 ZThLLS 1.00 | 5.00 ~ 5.00 5219 | #nS | 5.00 ~ 5.00 | 1.98 10.01
9 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
LS 1.00 1 000 ~ 490 61.11 | Thst | 000 ~ 490|205 10.37 ZThLLS 1.00 | 5.00 ~ 6.56 61.11 | #hs | 5,00 ~ 6.66 | 2.05 10.37
10 100kN/m##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~ -
zh s 1.00 | 000 ~ 504 62.83 | TSt | 000 ~ 504|201 10.16 Zh s 1.00 | 500 ~ 6.50 62.83 | ThLS | 500 ~ 6.50 | 201 10.16
17 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
zh s 1.00 | 0.00 ~ 505 62.93 | #FhLs | 000 ~ 505|201 10.15 Zhs 1.00 | 5.00 ~ 6.50 62.93 | ThLS | 500 ~ 6.50 | 201 10.15
12 100kN/m##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -[3mZEEBZS ~
Zzh st ~ Zzh st ~ Zhus ~ zh st ~
19 100kN/mM%#EZ % ~ -|3mZEEZ D ~ -| 100kN/mi%#BZ % ~ -[3mEEBZS ~
Zh st ~ Zzh st ~ Zhus ~ zh st ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ Zhs ~ Zzh st ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh Lo ~ Zhst ~
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